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ECONOMICS
( Major )
Paper : 6.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wero frdl epspgEd e o

(@) What is incremental budget?
4 AeEs 2

(b) Give an example of neutral tax.

fRaeors S99 961 TRz |

(c) Write the meaning of canon of equity as a
characteristic of good tax system.

Tay 39 qwE R B Ao ey we
ferar |

(d) State one objective of fiscal policy.

FECFRE NS 61 Traen Tead 41 |
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(e) Write the meaning of federal finance.
gwiﬂﬁm eq 5y fordl |

(i, What is relative taxable capacity?
ST 9 2 el 2

(g9 Write one limitation of federal finance
system in India.

SR FEAG 8 IRER b1 Krame! o |
2. Answer the following questions : 2x4=8
oo APTA Taq forer
(o) What do you mean by tax credit?
39 w1 ferea fo e 2

{b) Mention two factors responsible for low
level of taxable capacity in
underdeveloped countries.

TS (PPTHRS Ml F9 2 O A1 SO
751 SeAr TeEY 9 |

(c) Write a brief note on Goods and Services
Tax (GST).
STHA S G $99 961 55 (Ol o< |

(d) Define government budget.

Saal ArcEnd ke i |
3. Answer any three of the following questions :
5x3=15
weore il 7 G fofbt 2 T fors

(a) Discuss the recommendations of 14th
Finance Commission of India.

SRS B 18 S AR e <59 |
8A/846 ( Continued )

(b)

(©)

()

(e)

(3 )

Discuss briefly the relative superiority of
indirect taxes over direct taxes.

2ACPF FIOLT ACATF 99 TR Tegeel bYaR
AT I |

“Expenditure is a better index of ability to
pay than income.” Analyze.

“yEels W P9 AT WA ©F /S |7
s 411

Distinguish between herizontal and
vertical fiscal imbalance. Write down one
purpose of tax sharing in fiscal
federalism. .

S WE TR G PN e 3%
el | TSAEN SECTRE TIES TR Gl
T forl |

Discuss about the benefit principle of

taxation.
Wﬁﬁi{ﬁﬁ?ﬁﬂﬁﬂzﬂﬂﬁﬁ' 401

4. Answer any three of the following questions :

10x3=30

Wﬁmﬁmﬁ,ﬁﬁﬁmw&ﬂ

(@)
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Explain the various types of government
pudget. Briefly discuss about the

( Turn Over )



¢ %)

(b) Distinguish between progressive and
proportional taxes. Consider their
advantages and limitations. 6+4=10

TR AF WA 99 AG© 12
crgedl | PrRed FfRa S SMEaertz. Ros
901

(c) Classify impact, shifting and incidence of
tax. Explain the concept of forward and
backward shifting of tax. 6+4=10

39 RIS, SFIRE SF ONS CIAFa T4 |
T TN S PSRN SR GRECT 0
91

(d) What do you understand by taxable
capacity? On what factors does it

depend? 4+6=10
9 T e [ gm0 2 2 [ T eome
g 2

(e) Discuss the ability to pay theory of tax.
What are its merits and demerits? 10
9 o A A WDl 9 1 W 89
e R 2

() What do you mean by fiscal policy?
Explain the role of fiscal policy in

developing countries. 2+8=10
qEceRE A IfE B qme TwmtE age
JrecRY eI SR W 4 |
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